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In my town 95% of all households have a desktop computer.
61% of all households have a desktop computer and a laptop
computer. What is the probability that a household has a laptop
computer given that it has a desktop computer?

‘The probability that a student takes Technology and Spanish
is 0.1. The probability that a student takes Technology is 0.6.
‘What is the probability that a student takes Spanish given that
the student is taking Technology?

Uand V are mutually exclusive events. P(U) = 0.26 and
P(V) = 0.37. Find:

a P(Uand V)

b P(UIV)

¢ P(Uor V)

A teacher gave her class an IB Paper 1 and an IB Paper 2.
35% of the class passed both tests and 52% of the class passed
the first test. What percent of those who passed the first test
also passed the second test?
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9 Ajar contains black and white mables. Two marbles are chosen
without replacement. The probability of selecting a black marble
and then a white marble is 0.34, and the probability of selecting a
black marble on the first draw is 0.47. What is the probability of
selecting a white marble on the second draw, given that the first
‘marble drawn was black?

: EXAM-STYLE QUESTION
10 The table shows the number of left- and right-handed table-
tennis players in a sample of 50 males and females.

Left-handed | Right-handed | Total
Male 5 32 37
Femal 2 11 13
Total 7 43 50

A table-tennis player was selected at random from the group.
Find the probability that the player is:

a male and left-handed

b right-handed

¢ right-handed, given that the player selected is female.
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Exercise 61

1 The table shows the relative frequencies [ age | Relative
of the ages of the students at a high e ey
school.

a A student is randomly selected. 13 0.15
Find the probability that the 14 0.31
student is: 15 0.21
i 15 years old 16 0.19
ii 16 years of age or older. 17 0.14

There are 1200 students at this school. Total 1

b Calculate the number of 15-year-old
students.

2 The sides of a 6-sided spinner are numbered from 1 to 6.

The table shows the results for 100 spins.
Number onspinner | 1 [2 [3 [4 |5 [6
Frequency 27 |18[17 [15[16 |7
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What is the relative frequency of gettinga 17
Do you think the spinner s fair? Give a reason for your

answer.
The spinner is spun 3000 times. Estimate the number of

times the result will be a 4.
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3 Two dice are thrown 500 times. For each throw, the sum of the
two numbers shown on the dice is written down.

The table shows the result.
Sum 2(3|4|5|6|7[8|9]10]11|12
Frequencies |6 | 8 | 21 |34 |65 |80(63|77|68 36|42

Using these frequencies, calculate the probability of:
a the sum being exactly divisible by 5

b the sum being an even number

¢ the sum being exactly divisible by 5 or being an even number.

4 A 10-sided dice, with faces 1 to 10, is rolled. Calculate the
probability that the number scored is:
a aprime number
b either a prime number or a multiple of 4
¢ either a multiple of 4 or a multiple of 3
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Exercise 6J

: EXAM-STYLE GUESTIONS

There are 27 students in a class. 15 take Art and 20 take Theater.
Four do neither subject. How many students do both subjects?
One person is chosen at random. Find the probability that

a he or she takes Theater but not Art

b he or she takes at least one of the two subjects

< he or she takes Theater, given that they take Art.

i 2 Forevents 4 and Bit is known that: P(4' ~ B) = 0.35,
i P(4)=0.25 and P(B) = 0.6 Find
i aPUNB b PUIB) c PBIA)

3 48% of all teenagers own a skateboard and 39% of all teenagers
own a skateboard and roller blades. What is the probability that
a teenager owns roller blades given that the teenager owns a
skateboard?

4 A number is chosen at random from this list of eight numbers:
1 2 4 7 11 16 22 29
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Find:

b
c
d

P(it is even | it is not a multiple of 4)

P(it is less than 15 | it is greater than 5)

P(it is less than 5 | it is less than 15)

P(it lies between 10 and 20 | it lies between 5 and 25)




